Reticle Targeting Optics 4x30i, Cal. 5.56
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5.56 NATO
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A The circle has a diameter of 20 mrad, ca. 2 m at 100 m (approx. 65 MOA)
1 The horizontal line outside of the circle has a line width of 0.5 mrad, ca. 5cm at 100 m.

2 The crosshairs are laid out for caliber 5.56 at 100 m



1 2 3 4 1 and 4 For targets with a velocity of 10
km/h (quick steps) (1 coming from the left,
4 coming from the right)

/-—— | 2 and 3 For targets with a velocity of 5
km/h (walking individual) (2 coming from

the left, 3 coming from the right)
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Two intermediate lines for distances of 400
m and 600 m

6 The range mark is configured for a target
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2 4 6 8 height of 1 m. 9 The numerical values
within the curve indicate the distance to the
target in m.

7 The intermediate lines stand for 300 m,

5.56 NATO 500 m and 700 m.

8 Below the range mark the caliber is

9 8 7 indicated.



